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2018E & =0l & L BHSIH S Al
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B CANZ(RELNANL/XAL A
et CAIHE S (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S Al 21,292,996 19,390, 186 1,902,810
Xl 5,436,000
< 395,000
Al 15,461,996
SANL(ZELXNGMNL/NEL A 14,668, 130 12,571,402 2,096,728
Xl 1,746,000
< 395,000
Al 12,527,130
S AHEE 6,484,771 816,180 5,668,591
S A& 2te 5,904,540 654,540 5,250,000
201 Let24E] 45,540 45,540 0
01 At 22l 35,540 35,540 0
OEANEE A3l 50,000& = 123 600
OSAMAEARSZ SIAME oI
70& * 5,00004 * 63 2,100
OZAIZeIHE () FRIJAFF ME2 12
2,000,000& = 2JH Ak = 33l 12,000
OZANEEHEEE 2ZetZey 23 7“4
A) 1,000,000& * 1CH * 43 4,000
OEAMAAZE * TANUESSAAS 16,840
— 2923 2 (0I2E)
70,000& * 14H « 53] 4,900
—H22 223 292 (0I2)
70,000& * 69Y « 73l 2,940
—2g=2g(=F) 30,0008 * 14Y * 63 2,520
— S0l (22d3) 90,000% * 6% * 53 2,700
—EHAAH(EURARSE)
90,000& = 69 « 73l 3,780
02 =224l 10,000 10,000 0
OZAMAHAHFEMA(UPIS) SNE=
10,000,000& * 14 10,000
203 &R =T Y| 9,000 9,000 0
03 A FXH R =ZH| 9,000 9,000 0
OFRAE SetAIY =& 3,600,000& » 14 3,600
O=EMgAH= 22 =& 1,800,000& » 14 1,800
OXYGIHLAY =& 1,800,000 = 14! 1,800
OSZAIHEAY =& 1,800,000 * 14 1,800
207 O] 850,000 600,000 250,000
01 2284 850,000 600,000 250,000
Og=xF ZAIIZAE =8 & TAZeH=E M
Ztl 9 00,000,000& = 14 500,000
OZAMHEZEMA(UPIS)E G 2
350,000,000& * 14 350,000
401 Al HI L =2 Tl 5,000,000 0 5,000, 000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 5,000,000 0 5,000,000
OFIOIYE TAIHEAE EXNEA
5,000,000,000& = 14! 5,000,000
S A HE oAzt 580,231 161,640 418,591
305 A2 S 67,698 161,640 N 93,942
01 A =2S 67,698 161,640 N 93,942
OBYIEZ2(ZT2AIER2) XN2(01=5])
920,750& ~ 12& 11,049
OBYISESZ2(=2AE22) a3 (2&3H)
397,7008 ~ 12& 4,773
ORYIES(ER2AMER) S (RYER)
211,5008 ~ 12& 2,538
ORYIES(ER2AMER) AS(LR204)
185,510& * 14 186
ORYIES(ER2AMER) NS(HHAF)
284,0008 ~ 12& 3,408
ORYIES(ER2AMER) AS(ZAE 2 17)
1,969,960 * 128 23,640
ORYIIES(ER2AMER) IS (R2F)
1,842,000& * 128 22,104
401 Al HI L 204 HI 512,533 0 512,533
01 Al&H| 512,533 0 512,533
ORY0S2 etstd3 2 MAEX 0
512,533,000& = 14 512,533
SADIBEEHA 5,857,665 5,940,984 A 83,319
Xl 696,000
= 50,000
Al 5,111,665
CAHEESZ2WE 3,850,000 2,585,000 1,265,000
401 Al HI L £ 0HHI 3,850,000 2,585,000 1,265,000
01 Al& H| 3,821,920 2,568,305 1,253,615
Oatdts ZOIOITIIE € SAIHEEZZ(AR22-9
S)IHAEZ2AF 5,000,000 = 100m * 99.28/100 496,400
OZJIS Al SHUMAMEZ=TD T2(A21
-15 )& 2 At 5,000,000 * 60m * 99.28/100 297,840
ORMp 2Mx-22X SAHAT2IHLBA
,000,000& = 100m * 99.28/100 297,840
O2HS MWt S & ZHZA
2,000,000 = 100m * 99.28/100 198,560
ORANE~SHIINR2 E2(AZ22-155)HE 2 At
5,000,000€ = 40m = 99.28/100 198,560
OEJIg etA0IE & TAHEZZINE ZA
2,000,000 = 100m * 99.28/100 198,560
OZJlg dulel UsEZE Z4AY
300,000,000& = 141 *« 99.28/100 297,840
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S ZADIEEY (=& J)
— SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OS8H KotHE B2 AXSA
100,000,000& = 14 * 99.10/100 99,100
Odoted s b8 T2ME S A
200,000,000 = 14l * 99.28/100 198,560
OdYsE SMN3~FZuiz T2(WE3-78)
i & S At 3,000,000 * 100m * 99.28 /100 297,840
O2J18 s&8ad SANHEE=(E21-28)HE
=N 5,000,000% * 60m * 99.28 /100 297,840
O2J8 sl 20t T2MLEZA
500,000& * 400m * 99.28 /10 198,560
OdYsE 38 2802 Z(A3-240) TAHEE
FEI &S A 150,000,000& = 141 % 99.28/100 148,920

0,
OZJIS ZLATSEEINSHE & TAIHE(

200,000,000& * 14l » 99.28/10 198,560
OZJle HED-ZJI&8#D AN (LR2-16)
MHEZ A 100,000,0008 * 141 * 99.10/100 99,100
OBl Awdel SANHER(£22-11) Ha
ZA(SEZERRD)
1,500,0002 * 200m * 99.28/100 297,840
03 Al 2 TH ] 28,080 16,695 11,385
OMSUE HOIOIIE ¥ TAHNATZ (4229
S)ME2A 5,000,0002 * 100m * 0.72/100 3,600
OBIIE NEel SHAMAEFD T2 (A1
~13)JH &2 AF 5,000,0008 * 60m * 0.72/100 2,160
OR40 SHE-228X TAHHTZHLSIA
3,000,008 * 100m * 0.72/100 2,160
O2HE HADNW CRATEIA
2,000,008 * 100m * 0.72/100 1,440
O2ANE~FHUIZE T2(AZ2-153 )M E B Al
5,000,0008 * 40m * 0.72/100 1,440
OZJlS SAOME & TAHHCZHEDA
2,000,008 * 100m * 0.72/100 1,440
OZJlg 4U2 USHBE ZHAY
300,000,008 * 141 * 0.72/100 2,160
O=28 XsHE FaE2 X 2A
100,000,0008 * 14l * 0.90/100 900
OBIYE 55 RIS A
200,000,008 * 141 * 0.72/100 1,440
ONUE SMRE-HBIHE C2(HRZTS)
WA A 3,000,0008 * 100m * 0.72 /100 2,160
OBIlg 82l TAANAC2(E21-25)H4
2 A 5,000,0008 * 60m * 0.72 /100 2,160
OBIlg SH2l 28012 TRMLIA
500,0008 * 400m * 0.72 /10 1,440
OMYE 38 PECHEIB(A3-240) TANHESE
2HEZ A 150,000,0008 * 141 * 0.72/100 1,080

O2JE 2L MEs=E8IIs4dH & SAIAHE(
A 23-32) HESA
200,000,000& * 141 = 0.72/100 1,440
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZJlg Z3u-EJ|&uw TAHE(AZ2-16)
HAE Z At 100,000,000& = 14! = 0.90/100 900
OZEJIg AMEB32 SAHEEZZ2(A22-11) WA
ZSAHEEZAEHNER)
1,500,000& = 200m = 0.72/100 2,160
SAHE R 222 806,000 566,000 240,000
301 et A= 6,000 6,000 0
11 J|EtE A2 6,000 6,000 0
OCEIE & FAAl &6l XIZH]
300,000 = 20AH 6,000
401 AlEHIZL 2 0HY| 800,000 560,000 240,000
01 Al& H| 793,880 555,608 238,272
OY==~HJPO0IWE QT IHEZA
5,000,000 = 60m * 99.28/100 297,840
OAIX o1& 2188
500,000 * 2009H 2 * 99.10/100 99,100
OFFS AMNI2EZ=2 22 UAZEIBA
1,000,000 = 50m * 98.92/100 49,460
OMds Masl) 22 Q- HH ZA
300,000 = 500m * 99.28/100 148,920
OEJIg AMIIX BEEEZE HUAMIE(EEXHED
23) 1,000,000 = 200m * 99.28/100 198,560
03 AlIE 21| 6,120 4,392 1,728
OY==~HJPO0IWE QT IHEZA
5,000,000 = 60m * 0.72/100 2,160
OAIX & 288
500,000 = 20022 * 0.90/100 900
OFFES AMI2EZ=2 22 AZEIZBA
1,000,000 = 50m ~ 1.08/100 540
OM%Ys MU= 2 AT HUI S A
300,000 * 500m * 0.72/100 1,080
OZEJIg MIIX BEEEZE HUAMI(EEXHED
23) 1,000,000& = 200m *= 0.72/100 1,440
CAFE2XH 29,360 24,800 4,560
201 Yet2 2t 5,600 3,200 2,400
01 AP 22| H| 5,600 3,200 2,400
Od&Ad3 glo&e £ 5,600
— 3o EME LG 70,0003 * 8Y * 73| 3,920
—MEPBESLE 30,000 x 8 x 73| 1,680
202 04 d| 23,760 21,600 2,160
01 2Ll 23,760 21,600 2,160
OEANHE=R =RANE g2 =&
90,000& = 2% » 11 * 12& 23,760
SCAEZAES2e 206,305 191,184 15,121
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Chel: S ARt S (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 14 Hl 7,230 12,424 25,194
04 JIZHHZ22XREES 7,230 12,424 AN5,194
O=2=0 8Z2&H UF
60,2403 * 198 = 5& » 123 3,615
O2%te el s3FH AR
60,2403 * 19 = 5& » 123 3,615
201 £B-2d| 49,075 38,760 10,315
01 At 22/l 2,115 1,800 315
O=2=U & 32 AHel 24085 2d
50,0008 * 58 250
Oz=U & 232 JHel s A= H 2
15,000& = 33 » 73 315
Osgtw & 23J|1& H2s "X2el
50,000& 1500 4 750
O=ZdANE(ZgFzS 24U, 23AdH 2=U)
=2Fd 50,0003 = 204 = 8 800
02 3323l 46,960 36,960 10,000
OB+ ®J 2 45+E 23
1,300,000& * 12& 15,600
O&ste el I 2 dot+=E 23
800,000& « 12& 9,600
O2%t2 el s2ddE x&€=2 =98 &HIIes
50,000& = 123 600
O3&% & dJIes 180,000& * 12& 2,160
Ogn & 372 JI28 dIIe=
50,000& = 15004 = 128 9,000
OO0 ¥ 232 Hel s S 3 29
10,000,000& * 14 10,000
401 Al I 28I 150,000 140,000 10,000
01 A& HI 150,000 140,000 10,000
ORAANF=IE 2=HelAE =524 WA
8,000,000& =« 4CH 32,000
ORAM=INE MES(ZXSHM, t2S, &
AEs, FUE S) A2
10,000,000& * 14 10,000
OSHNFUE QAHIAL HUUT SHe
mps| 30,000,000& * 1A 30,000
ORAA=IE 20U KX 22
5,000,000& = 14 5,000
OgFs 2+U ANA2B(Z=Y, JIHS)
3,000,000& = 14 3,000
OYZFsE 240 2 =5 ¥ +52d Al
5,000,000& = 14| 5,000
Og=s 220 ¢ 2s2Hel dY E2l &X
15,000,000& * 14 15,000
O2ste Hel A2 (=g, JIH, 2=U
g) 10,000,000& * 14 10,000
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=]

Chelr S AIDIBtEA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZANE (== 22U L 232 Hel AN
) A5 ¥ &Y AX
20,000,000 = 200 A 40,000
(E)EANESAML 100,000 400,000 A300,000
< 50,000
Al 50,000
401 AIEHI L 2 CHYI 100,000 400,000 A300,000
< 50,000
Al 50,000
01 A& HI 100,000 397,120 A 297,120
HAXMY T2(E224) S8
1,000,000& * 100m 100,000
< 50,000
Al 50,000
()N =L S K2 (0FARHOH) 866,000 2,174,000 A 1,308,000
Xl 696,000
Al 170,000
401 Al HIZ 2018 866,000 2,174,000 A 1,308,000
Xl 696,000
Al 170,000
01 A& HI 860,545 2,166,174 A 1,305,629
OO0ra BHE HF=FTE ZHAY
866,000,000& * 14l * 99.37/100 860,545
Xl 696,000
Al 164,545
03 A& =2 I 5,455 7,826 A2,371
OO0raBHE HF=FTEH ZHAY
5,455,000 » 14 5,455
ClI el 22 515,038 1,417,438 A 902,400
= 200,000
Al 315,038
CIXtolzte] 115,038 1,417,438 A 1,302,400
201 L2l 33,902 33,902 0
01 At 2t 2l 14,400 14,400 0
OZ330Xe(AF) UAHZIt slo&FA ¢ 14,400
— n sl 30,000& = 1H * 8 » 123 2,880
— A 4 20,000 = 1H * 8 » 123 1,920
—glolgaLy
70,000& = 1H * 8 » 123 6,720
— NEAELY
30,000 = 1H * 8A * 123 2,880
02 2324l 10,392 10,392 0
OodIIe3 7,992
— MY FUSTHEH HIILS
100,000& » 12& 1,200




SH: EAD
HE: CANL(FELTGHL/NALTAI)

& Cixtel2e| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
“EANZAH 222 SESANBY 20S
HIIRS 6,000& = 115 ~ 12& 792
—U-City SEEZMAH (M) B3
100,000& » 12& 1,200
—SANY & OISSHSIHEH IS
100,000& » 12& 1,200
— T AEA 22 HIRS
300,000& = 12& 3,600
Oosdes 2,400
—U-City SEZHMAH (M) SUR3
200,000& = 12& 2,400
03 & Ar2 I 9,110 9,110 0
O330Xxe(Axs) ZHEA =2 L 0H] 9,110
—JI2(SA+3)
400,000& = 9 * 1AI2+ » 13| 3,600
— = (SEAS)
300,000& = 9 * 1AI2+ » 13| 2,700
— ol 90,000& = 9 * 1& » 13 810
— 84, T, EE=, LHEY UM S
2,000,000& * 14 2,000
207 A RO H| 30,000 330,000 A 300,000
01 289 30,000 330,000 300,000
O33LX(AE) SEUMAHEH HMRAHE
=g 29 30,000,000& * 14 30,000
301 L2 LS 51,136 53,536 A 2,400
11IIEEAS 51,136 53,536 A 2,400
OS3UX(HF) QAEHEI =&
4,111,320& + 18 » 128 49,336
OZ330X(AF) UAHE2I =& 1,800
— n Sl 30,000& = 1H * 53 123 1,800
(ZR)2=2 ZAIIX SAA 400,000 0 400,000
< 200,000
Al 200,000
401 Al HIZ 201 I 400,000 0 400,000
< 200,000
Al 200,000
01 A& HI 397,120 0 397,120
OZ=2 FAIX & ALY
400,000,000 = 14l * 99.28/100 397,120
< 200,000
Al 197,120
03 A& 2 THHI 2,880 0 2,880
Ooz=2 FAIRX & Ald
400,000,000 * 14l = 0.72/100 2,880
S AL TH 24 1,810,656 4,396,800 A2,586, 144
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Chel: S ALTH 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,050,000
< 145,000
Al 615,656
S AL TH A 277,656 1,800 275,856
101 @14 Hl 20,509 0 20,509
04 JIZHZ22XREES 20,509 0 20,509
OZANTHMIAEEH 28 AIRH 2 20,509
—JlEs 72,4653 + 18 » 225 16,305
-5 72,4653 * 198 » 47 3,406
— s essIt=Y 72,4653 + 1H » 11 798
201 £B-2%H| 71,387 0 71,387
01 At 22l 57,507 0 57,507
OZATHMAHE 524
348,258& * 43| « 1H » 123 16,717
OZAMAY RCIUOIH Es=+¢
262,080& * 23 = 1H » 123 6,290
OZANMY &I s+
100,000& = 83| » 29 * 12& 19,200
OZATHMIIAHE Jl2ALR 22t
1,000,000& * 14 1,000
OSANTHMSAAS U MASTEOIS YL (
slolmalsgy, sloAMY S)
100,000&  10¥ * 63 6,000
OZEANMEXZLE SASXK
15,0003 = 59FA « 128 900
OSANWMUS S FUASLSHDS (LAY,
2g4l) 1,000,000 * 53| 5,000
OArE =422l 2,400
— =S AMI| =2l 500,000& =« 1CH 500
— ZEH 22l 100,000& * 1CH 100
— =AM EH 200,000& = 33| » 104 600
—OBH EU(S%) 200,0002 * 33 = 104 600
— Dl Eu(Zat) 200,000& * 33 * 104 600
02 =224l 13,880 0 13,880
OEAMNTHMXZLE HIIRS
200,000& = 123 2,400
OSAMNTHEXZEME SSAME IS
600,000& = 123 7,200
OZANTHMINALE S&R2S 40,0008 * 128 480
OEANHEX2HE &ot+=ER23
50,000& = 12& 600
oz 2ots dJle=a 100,000& 128 1,200
OEAMTHEAIE 2t SSAE KX 22t
2,000,000& = 14 2,000
203 ¥ S =&l 1,800 1,800 0
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Chel: S ALTH 24 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
03 Al =X A2 =& 1,800 1,800 0
O RAIY &2 S g2F2
1,800,000 * 14l 1,800
207 Ao 2| 170,000 0 170,000
01 A2 EAHI 170,000 0 170,000
OSATHY 23S 28 27 8
170,000,000& * 14 170,000
301 gt 4= 3,960 0 3,960
09 SAAHIEA S 3,960 0 3,960
OZANHMEEI, FRHEE S 4l
7,000& = 15H = 123 1,260
OZANTHMEHEEI, FRHEE, 23 5 &8
A As, A3E FA0H
90,000& = 15H =« 23| 2,700
307 21201 A 5,000 0 5,000
02 QB LA EX 5,000 0 5,000
OSAHY =032 L A2 HOAS (F4)
(BEZE8 90%) 2,500,000& * 2JH 4 5,000
402 RIZEX20l A 5,000 0 5,000
01 It 2 A B (KM &) 5,000 0 5,000
OSAMHY =032 L AR2 NOAS (XH2)
(BEZE 90%) 2,500,000& * 2JH 4 5,000
(VHLTAMET(ZA)(ZASMEDS) 1,175,000 461,000 714,000
Xl 800,000
< 113,000
Al 262,000
201 L2l 30,000 10,000 20,000
01 At 22l 30,000 10,000 20,000
OME0ISAIY 2CIUIOIH, 830t =
30,000,000& * 14 30,000
401 Al&HI & 28I 1,005,000 441,000 564,000
Xl 800,000
= 113,000
Al 92,000
01 A& HI 1,001,382 437,825 563,557
OztAlE ME0SALY
1,005,000,000& * 99.64/100 1,001,382
X 800,000
< 113,000
Al 88,382
03 AIE S THHI 3,618 3,175 443
O2AtZ MEDIS ALY 3,618,000& = 14 3,618
402 RI2tXt20l M 140,000 0 140,000
02 QI2t X2 AL E = (0l X THE) 140,000 0 140,000
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Chel: S ALTH 24 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZAN= MEOtSAY E=xel X
7,000,000& » 202t 140,000
()AL TGHNE(SAN(SAMEDNS) 358,000 0 358,000
X 250,000
< 32,000
Al 76,000
307 gl2tol & 20,000 0 20,000
02 It M AHE L 20,000 0 20,000
OF0 ASASHAI (AN L EE &)
20,000,000& = 14 20,000
401 AIEHI L 20HEI 338,000 0 338,000
Xl 250,000
< 32,000
Al 56,000
01 A& HI 335,567 0 335,567
O&X MS0OtSAHY
338,000,000 * 99.28/100 335,567
X 250,000
< 32,000
Al 53,567
03 AlE 2 THHI 2,433 0 2,433
OSX ME0tSAY 2,433,000& * 14 2,433
202 A (ZELXNSML/XNSALEZ A 99,006 55,260 43,746
=2Zns &l 99,006 55,260 43,746
2= ZHl 99,006 55,260 43,746
101 1244 dl 18,796 16,150 2,646
04 JIZHHZ2XRHEE S 18,796 16,150 2,646
Osdg Z21= ZHl 9=
60,2403 * 2% + 7 « 123 10,121
OZDS HYH AEH 28 o2y
60,2403 = 2% + 6 » 123 8,675
201 £B-2dH| 17,800 9,300 8,500
01 At 22l 17,800 9,300 8,500
OZls AEM AEIAH WA
1,400& = 2,0000H 2,800
O8=2 MEE 150& = 1& * 10,0000H 1,500
Os8 8% & 50& » 2& = 10,0000H 1,000
OZNgx W ZAxg 250,000& * 24 500
OZNHXN WE W 10,0003 = 60 12l 600
OMA HMZ 503 * 4& = 2,0000H 400
OZ1NE3H =% WA
60,000& = 5& =« 23| 600
OZ2ineg &l &7 PL(LH S)
500,000& * 14 500
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Ooziszeldods 4 =
70,000& * 59 = 43| 1,400
OZ=oll UH SAZNsS HEFH =2
17,000& * 5000H £ 8,500
301 gt L= 17,410 4,810 12,600
09 SALAHIEAS 810 810 0
O Zn=2d FANWH 90,0008 » 9% = 1 810
11IIEIEA S 16,600 4,000 12,600
ORs s8Z0=E =H24=3 =2 15,000
—HE, JC, I =) 243
100& = 150,000& 15,000
O 2=y =3 HAH X
400,000 * 438 = 13 1,600
401 AIEHIZ 28I 45,000 25,000 20,000
01 A& Bl 45,000 25,000 20,000
OYUESRIUIAIE EX 100,000 * 1009 £ 10,000
O&=2 HAIH HHl & 04
3,000,000& * 200 £ 6,000
O8 =9 (5¢) AAIL &X
7,000,000 = 204 A 14,000
OMEd &8 AN &X
3,000,000& * 50 £ 15,000
= 82 WL (AMS=X/==) 71,707 93,285 AN21,578
FAHEZ N A 71,707 93,285 A21,578
SANFHEEMNE 71,707 93,285 A 21,578
101 @14 Hl 6,507 2,485 4,022
04 JIZHHZ2Z2XNESE S+ 6,507 2,485 4,022
OAE SR e =2
60,2403 * 2% * 2 » 123 2,892
OMLX 2T 2AFH ALY
60,2403 * 19 = 5& » 123 3,615
201 Let24d] 13,200 10,800 2,400
02 8323l 13,200 10,800 2,400
OAEEH RXU(ES0HS0tY, SIS,
ge2d, 42X S) 1,100,000& = 12& 13,200
401 AIEHIZ 28I 52,000 80,000 228,000
01 A& HI 52,000 80,000 A 28,000
FHESZMEAY S22l
40,000,000 = 14! 40,000
O+ZANE A5 2 H2(HEE4 S)
400,000 = 152 = 2& 12,000
SHZ(ZELXNYGMNLE /NIL Al 98,946 98,743 203
Sl=2dd 2el 98,946 98,743 203
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=822 98,946 98,743 203
101 @14 Hl 1,446 1,243 203
04 JIZHHZ2XNEE S 1,446 1,243 203
OAlE sX2el Y
60,2403 = 298 = 32 * 43| 1,446
201 Let249] 63,000 63,000 0
01 At 22/l 8,400 8,400 0
O2d3 =Z2IA =2 1,200,000& * 4= 4,800
O2&8M+=x Ea 1,500& = 1,200 * 22/ 3,600
02 =24l 54,600 54,600 0
Oo=2ds dlle=s 4,500,000& = 12& 54,000
O=ds sties 50,000& * 12& 600
401 AIEHI L 201 34,500 34,500 0
01 A& HI 34,500 34,500 0
O+=ZH 232 AHH Wi (30HS)
3,000,000& = 24l 6,000
O=2d3 Iy 25 WA 250,0008 * 44 1,000
O&¥=%F MIALE WH(D80) 500,000& * 14 500
Oti=®EZ %2/ (30HpE) 2,000,000& = 1CH 2,000
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